## Research Article

## Sa’adatul Fitri*, Marjono, Derek K. Thomas, and Ratno Bagus Edy Wibowo <br> Coefficient inequalities for a subclass of Bazilevič functions

https://doi.org/10.1515/dema-2020-0040
received August 23, 2019; accepted January 30, 2020
Abstract: Let $f$ be analytic in $\mathrm{D}=\{z:|z|<1\}$ with $f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n}$, and for $\alpha \geq 0$ and $0<\lambda \leq 1$, let $\mathcal{B}_{1}(\alpha, \lambda)$ denote the subclass of Bazilevič functions satisfying $\left|f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1-\alpha}-1\right|<\lambda$ for $0<\lambda \leq 1$. We give sharp bounds for various coefficient problems when $f \in \mathcal{B}_{1}(\alpha, \lambda)$, thus extending recent work in the case $\lambda=1$.

Keywords: univalent functions, Bazilevi, coefficients, inverse, Fekete-Szegö, Hankel determinant
MSC: Primary 30C45, Secondary 30C50

## 1 Definitions and preliminaries

Denote by $\mathcal{A}$ the class of analytic functions $f$ defined for $z \in \mathbb{D}=\{z:|z|<1\}$, and normalized so that $f(0)=$ 0 and $f^{\prime}(0)=1$, and by $\mathcal{S}$ the subclass of $\mathcal{A}$ consisting of functions that are univalent in $\mathbb{D}=\{z:|z|<1\}$. Let $f$ be given by

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1}
\end{equation*}
$$

Then, for $\alpha>0$, it was shown by Bazilevič [1] that if $f \in \mathcal{A}$ and is given by eq. (1), then there exists starlike functions $g$ such that

$$
\operatorname{Re} \frac{z f^{\prime}(z)}{f(z)^{1-\alpha} g(z)^{\alpha}}>0
$$

it follows that $f \in \mathcal{S}$. We denote this class of Bazilevič functions by $\mathcal{B}(\alpha)$, so that $\mathcal{B}(\alpha) \subset \mathcal{S}$ when $\alpha>0$.
The case $\alpha=0$ was subsequently considered by Sheil-Small [2], who showed that $\mathcal{B}(\alpha) \subset \mathcal{S}$ when $\alpha \geq 0$.
Taking $g(z) \equiv z$ gives the class $\mathcal{B}_{1}(\alpha)$ of Bazilevič functions, which has been the subject of much recent research. We note that $\mathcal{B}_{1}(0)$ is the class $\mathcal{S}^{\star}$ of starlike functions, and $\mathcal{B}_{1}(1)$ the well-known class $\mathcal{R}$ of functions whose derivative has positive real part in $D$.

Thus, $f \in \mathcal{B}_{1}(\alpha)$, if and only if, for $z \in \mathbb{D}$

$$
\operatorname{Re} f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1-\alpha}>0
$$

[^0]Various properties have been obtained for functions in $\mathcal{B}_{1}(\alpha)$. Among other results, Singh [3] found sharp estimates for the moduli of the first four coefficients and obtained the solution to the Fekete-Szegö problem. Sharp bounds for the second Hankel determinant, the initial coefficients of the function $\log (f(z) / z)$, and the initial coefficients of the inverse function $f^{-1}$ were obtained in [4], and distortion theorems and some length-area results were also obtained in [5-7].

We now define the subclass $\mathcal{B}_{1}(\alpha, \lambda)$ of $\mathcal{B}_{1}(\alpha)$, which was introduced in 1996 by Ponnusamy and Singh [8, Theorem 3]. In this article, the authors determine condition on $\lambda$ so that functions in $\mathcal{B}_{1}(\alpha, \lambda)$ are starlike in D (see also [9, Theorem 3] for an extension of this result). Later in [10, Theorems 1 and 2], the authors considered complex values of $\alpha$ and obtained condition on $\lambda$ such as the functions in $\mathcal{B}_{1}(\alpha, \lambda)$ are spirallike in $\mathbb{D}$. Two of the present authors in [11] studied the class $\mathcal{B}_{1}(\alpha, \lambda)$ in the case $\lambda=1$. Therefore, it is natural to consider the investigation of the problems discussed in this article for the complex values of $\alpha$ in the context of the investigation from [10].

Definition 1.1. Let $f \in \mathcal{S}$ and be given by eq. (1). Then, for $\alpha \geq 0$ and $0<\lambda \leq 1, f \in \mathcal{B}_{1}(\alpha, \lambda)$, if and only if, for $z \in \mathbb{D}$

$$
\begin{equation*}
\left|f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1-\alpha}-1\right|<\lambda \tag{2}
\end{equation*}
$$

We note that $f \in \mathcal{B}_{1}(0,1)$ reduces to the class of bounded starlike functions considered by Singh [12].
Although the aforementioned definition requires that $\alpha \geq 0$, choosing $\alpha=-1$ gives the class $\mathcal{U}(\lambda)$ of univalent functions defined for $z \in \mathbb{D}$ by

$$
\left|f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{2}-1\right|<\lambda
$$

The class $\mathcal{U}(\lambda)$ has been the focus of a great deal of research in recent years (see e.g. [13,14], and for a summary of some known results, see [15]). Although the classes $\mathcal{B}_{1}(\alpha, \lambda)$ for $\alpha \geq 0$ and $\mathcal{U}(\lambda)$ have similar structural representations, they are fundamentally different in many ways, and we shall see in the following analysis that the methods used in this study cannot be applied to the class $\mathcal{U}(\lambda)$. It is also interesting to note that the only known negative value of $\alpha$ which gives a subset of $\mathcal{S}$ appears to be $\alpha=-1$. See [16,17] and references therein for recent investigation, which also deals with the case $\alpha=-1$ for meromorphic functions.

In this study, we give sharp bounds for the modulus of the coefficients $a_{n}$ for $f \in \mathcal{B}_{1}(\alpha, \lambda)$ when $2 \leq n \leq 5$, together with other related results, noting that when $f \in \mathcal{U}(\lambda)$, sharp bounds have been found only for some initial coefficients.

First note that from eq. (2), we can write

$$
\begin{equation*}
f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1-\alpha}=1+\lambda \omega(z) \tag{3}
\end{equation*}
$$

for $z \in \mathbb{D}$, where $\omega$ is the Schwarz function.
Next, recall the class $\mathcal{P}$ of functions with positive real part in $D$, so that $h \in \mathcal{P}$, if, and only if, $\operatorname{Re} h(z)>0$ for $z \in \mathbb{D}$.

We write

$$
\begin{equation*}
h(z)=1+\sum_{n=1}^{\infty} c_{n} z^{n} . \tag{4}
\end{equation*}
$$

Thus, as we can write

$$
h(z)=\frac{1+\omega(z)}{1-\omega(z)}
$$

eq. (3) can be written as

$$
\begin{equation*}
f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1-\alpha}=1+\lambda \frac{h(z)-1}{h(z)+1} \tag{5}
\end{equation*}
$$

We shall use the following results concerning the coefficients of $h \in \mathcal{P}$.
Lemma 1.1. [18] If $h \in \mathcal{P}$, then for some complex valued $x$ with $|x| \leq 1$, and some complex valued $\zeta$ with $|\zeta| \leq 1$,

$$
\begin{aligned}
& 2 c_{2}=c_{1}^{2}+x\left(4-c_{1}^{2}\right) \\
& 4 c_{3}=c_{1}^{3}+2\left(4-c_{1}^{2}\right) c_{1} x-c_{1}\left(4-c_{1}^{2}\right) x^{2}+2\left(4-c_{1}^{2}\right)\left(1-|x|^{2}\right) \zeta
\end{aligned}
$$

Lemma 1.2. [19] If $h \in \mathcal{P}$, then $\left|c_{n}\right| \leq 2$ for $n \geq 1$, and

$$
\left|c_{2}-\frac{\mu}{2} c_{1}^{2}\right| \leq \max \{2,2|\mu-1|\}= \begin{cases}2, & 0 \leq \mu \leq 2 \\ 2|\mu-1|, & \text { elsewhere }\end{cases}
$$

Lemma 1.3. [19] If $h \in \mathcal{P}$, then

$$
\left|c_{3}-(1+\mu) c_{1} c_{2}+\mu c_{1}^{3}\right| \leq \max \{2,2|2 \mu-1|\}= \begin{cases}2, & 0 \leq \mu \leq 1 \\ 2|2 \mu-1|, & \text { elsewhere }\end{cases}
$$

Lemma 1.4. [19] Let $h \in \mathcal{P}$. If $0 \leq B \leq 1$ and $B(2 B-1) \leq D \leq B$, then

$$
\left|c_{3}-2 B c_{1} c_{2}+D c_{1}^{3}\right| \leq 2
$$

Lemma 1.5. [20] If $h \in \mathcal{P}$, and $\alpha_{1}, \alpha_{2}, \beta_{1}$ and $\beta_{2}$ satisfy $0<\alpha_{1}<1,0<\alpha_{2}<1$ and

$$
\begin{equation*}
8 \alpha_{1}\left(1-\alpha_{1}\right)\left(\left(\alpha_{2} \beta_{2}-2 \beta_{1}\right)^{2}+\left(\alpha_{2}\left(\alpha_{1}+\alpha_{2}\right)-\beta_{2}\right)^{2}\right)+\alpha_{2}\left(1-\alpha_{2}\right)\left(\beta_{2}-2 \alpha_{1} \alpha_{2}\right)^{2} \leq 4 \alpha_{2}^{2}\left(1-\alpha_{2}\right)^{2} \alpha_{1}\left(1-\alpha_{1}\right), \tag{6}
\end{equation*}
$$

then

$$
\left|\beta_{1} c_{1}^{4}+\alpha_{1} c_{2}^{2}+2 \alpha_{2} c_{1} c_{3}-(3 / 2) \beta_{2} c_{1}^{2} c_{2}-c_{4}\right| \leq 2
$$

## 2 Initial coefficients

We first give sharp bounds for some initial coefficients for $f \in \mathcal{B}_{1}(\alpha, \lambda)$, extending those given in [11].

Theorem 2.1. Let $f \in \mathcal{B}_{1}(\alpha, \lambda)$ for $\alpha \geq 0$ and $0<\lambda \leq 1$ and be given by eq. (1).
Then, for $2 \leq n \leq 5$,

$$
\left|a_{n}\right| \leq \frac{\lambda}{(\alpha+n-1)}
$$

The inequalities are sharp.

Proof. Equating coefficients in eq. (5) gives

$$
\begin{aligned}
a_{2}= & \frac{c_{1} \lambda}{2(1+\alpha)}, \\
a_{3}= & \frac{\lambda}{2(2+\alpha)}\left(c_{2}-\frac{\left(2+4 \alpha+2 \alpha^{2}-2 \lambda+\alpha \lambda+\alpha^{2} \lambda\right)}{4(1+\alpha)^{2}} c_{1}^{2}\right), \\
a_{4}= & \frac{\lambda}{2(3+\alpha)}\left(c_{3}-\frac{\left(4+6 \alpha+2 \alpha^{2}-3 \lambda+2 \alpha \lambda+\alpha^{2} \lambda\right)}{2(1+\alpha)(2+\alpha)} c_{1} c_{2}+\left(12+42 \alpha+54 \alpha^{2}+30 \alpha^{3}+6 \alpha^{4}-18 \lambda\right.\right. \\
& -24 \alpha \lambda+12 \alpha^{2} \lambda+24 \alpha^{3} \lambda+6 \alpha^{4} \lambda+6 \lambda^{2}-13 \alpha \lambda^{2}+6 \alpha^{4} \lambda+6 \lambda^{2}-13 \alpha \lambda^{2}-2 \alpha^{2} \lambda^{2}+7 \alpha^{3} \lambda^{2} \\
& \left.\left.+2 \alpha^{4} \lambda^{2}\right) \frac{c_{1}^{3}}{24(1+\alpha)^{3}(2+\alpha)}\right), \\
a_{5}= & \frac{-\lambda}{2(4+\alpha)}\left(M c_{1}^{4}+N c_{2}^{2}+2 Q c_{1} c_{3}-\frac{3}{2} R c_{1}^{2} c_{2}-c_{4}\right),
\end{aligned}
$$

where

$$
\begin{aligned}
& N=\frac{8+8 \alpha+2 \alpha^{2}-4 \lambda+3 \alpha \lambda+\alpha^{2} \lambda}{4(2+\alpha)^{2}}, \\
& Q=\frac{6+8 \alpha+2 \alpha^{2}-4 \lambda+3 \alpha \lambda+\alpha^{2} \lambda}{4(1+\alpha)(3+\alpha)}, \\
& M=\left(288+1536 \alpha+3432 \alpha^{2}+4152 \alpha^{3}+2928 \alpha^{4}+1200 \alpha^{5}+264 \alpha^{6}+24 \alpha^{7}-528 \lambda-1764 \alpha \lambda-1704 \alpha^{2} \lambda\right. \\
&+444 \alpha^{3} \lambda+1872 \alpha^{4} \lambda+1284 \alpha^{5} \lambda+360 \alpha^{6} \lambda+36 \alpha^{7} \lambda+288 \lambda^{2}+24 \alpha \lambda^{2}-1068 \alpha^{2} \lambda^{2}-744 \alpha^{3} \lambda^{2}+552 \alpha^{4} \lambda^{2} \\
&+696 \alpha^{5} \lambda^{2}+228 \alpha^{6} \lambda^{2}+24 \alpha^{7} \lambda^{2}-48 \lambda^{3}+212 \alpha \lambda^{3}-116 \alpha^{2} \lambda^{3}-295 \alpha^{3} \lambda^{3}+37 \alpha^{4} \lambda^{3}+149 \alpha^{5} \lambda^{3}+55 \alpha^{6} \lambda^{3} \\
&\left.+6 \alpha^{7} \lambda^{3}\right) /\left(192(1+\alpha)^{4}(2+\alpha)^{2}(3+\alpha)\right), \\
& R=\left(72+240 \alpha+306 \alpha^{2}+186 \alpha^{3}+54 \alpha^{4}+6 \alpha^{5}-88 \lambda-118 \alpha \lambda+40 \alpha^{2} \lambda+112 \alpha^{3} \lambda+48 \alpha^{4} \lambda\right. \\
&\left.+6 \alpha^{5} \lambda+24 \lambda^{2}-46 \alpha \lambda^{2}-21 \alpha^{2} \lambda^{2}+26 \alpha^{3} \lambda^{2}+15 \alpha^{4} \lambda^{2}+2 \alpha^{5} \lambda^{2}\right) /\left(12(1+\alpha)^{2}(2+\alpha)^{2}(3+\alpha)\right) .
\end{aligned}
$$

The inequality for $\left|a_{2}\right|$ is trivial.

For $a_{3}$, we apply Lemma 1.2 with

$$
\mu=\frac{\left(2+4 \alpha+2 \alpha^{2}-2 \lambda+\alpha \lambda+\alpha^{2} \lambda\right)}{2(1+\alpha)^{2}}
$$

Since $0 \leq \mu \leq 2$ for $\alpha \geq 0$ and $0<\lambda \leq 1$, the inequality for $\left|a_{3}\right|$ follows.
For $a_{4}$, we use Lemma 1.4 with

$$
B=\frac{\left(4+6 \alpha+2 \alpha^{2}-3 \lambda+2 \alpha \lambda+\alpha^{2} \lambda\right)}{4(1+\alpha)(2+\alpha)},
$$

and

$$
\begin{aligned}
D= & \left(12+42 \alpha+54 \alpha^{2}+30 \alpha^{3}+6 \alpha^{4}-18 \lambda-24 \alpha \lambda+12 \alpha^{2} \lambda+24 \alpha^{3} \lambda+6 \alpha^{4} \lambda+6 \lambda^{2}\right. \\
& \left.-13 \alpha \lambda^{2}+6 \alpha^{4} \lambda+6 \lambda^{2}-13 \alpha \lambda^{2}-2 \alpha^{2} \lambda^{2}+7 \alpha^{3} \lambda^{2}+2 \alpha^{4} \lambda^{2}\right) /\left(24(1+\alpha)^{3}(2+\alpha)\right) .
\end{aligned}
$$

Since $0 \leq B \leq 1$, and $B(2 B-1) \leq D \leq B$, when $\alpha \geq 0$ and $0<\lambda \leq 1$, the inequality for $\left|a_{4}\right|$ follows.
For $a_{5}$, we apply Lemma 1.5 with $\alpha_{1}, \alpha_{2}, \beta_{1}$ and $\beta_{2}$ the respective coefficients of $a_{5}$ in eq. (7). Since $0<\alpha_{1}<1$ and $0<\alpha_{2}<1$, for $\alpha \geq 0$ and $0<\lambda \leq 1$, then by expanding both sides and subtracting, it is easily seen that the conditions (6) of Lemma 1.5 are satisfied (the detailed proof of this step can be found in [21]), and so the inequality for $\left|a_{5}\right|$ follows. The inequality of $\left|a_{i}\right|$ is sharp on choosing $c_{i}=2$ when $2 \leq i \leq 5$, and $c_{j}=0$ when $i \neq j$.

## 3 Inverse coefficients

Since $\mathcal{B}_{1}(\alpha, \lambda) \subset \mathcal{S}$, inverse functions $f^{-1}$ exist, and so we can write

$$
\begin{equation*}
f^{-1}(w)=w+\sum_{n=2}^{\infty} A_{n} w^{n} \tag{8}
\end{equation*}
$$

valid in some disk $|w| \leq r_{0}(f)$. It is an easy exercise to show that

$$
\begin{align*}
& A_{2}=-a_{2} \\
& A_{3}=2 a_{2}^{2}-a_{3}  \tag{9}\\
& A_{4}=-5 a_{2}^{3}+5 a_{2} a_{3}-a_{4}
\end{align*}
$$

We first prove the following.
Theorem 3.1. If $f \in \mathcal{B}_{1}(\alpha, \lambda)$, with inverse coefficients given by eq. (8), then for $0<\lambda \leq 1$,

$$
\begin{aligned}
\left|A_{2}\right| & \leq \frac{\lambda}{1+\alpha} \text { when } \alpha \geq 0, \\
\left|A_{3}\right| & \leq \frac{\lambda}{2+\alpha} \text { when } 0 \leq \alpha \leq \frac{1}{2}(1+\sqrt{17}), \text { and } 0<\lambda \leq \frac{2(1+\alpha)^{2}}{(2+\alpha)(3+\alpha)}, \\
& \leq \frac{\lambda}{2+\alpha} \text { when } \alpha>\frac{1}{2}(1+\sqrt{17}), \text { and } 0<\lambda \leq 1, \\
& \leq \frac{(3+\alpha) \lambda^{2}}{2(1+\alpha)^{2}} \text { when } 0 \leq \alpha \leq \frac{1}{2}(1+\sqrt{17}), \text { and } \frac{2(1+\alpha)^{2}}{(2+\alpha)(3+\alpha)}<\lambda \leq 1 .
\end{aligned}
$$

All the inequalities are sharp.

Proof. Substituting eq. (7) into eq. (9) gives

$$
\begin{align*}
& 2(1+\alpha) A_{2}=-\lambda c_{1} \\
& 2(2+\alpha) A_{3}=-\lambda\left(c_{2}-\frac{2(1+\alpha)^{2}+(2+\alpha)(3+\alpha) \lambda}{4(1+\alpha)^{2}} c_{1}^{2}\right) \tag{10}
\end{align*}
$$

The inequality for $\left|A_{2}\right|$ is trivial, since $\left|c_{1}\right| \leq 2$.
For $A_{3}$, we use Lemma 1.2 with

$$
\mu=\frac{2(1+\alpha)^{2}+(2+\alpha)(3+\alpha) \lambda}{2(1+\alpha)^{2}}
$$

and the inequalities for $\left|A_{3}\right|$ easily follow. The inequality for $\left|A_{2}\right|$ is sharp when $c_{1}=2$. The first and second inequalities for $\left|A_{3}\right|$ are sharp on choosing $c_{1}=0$ and $c_{2}=2$. The third inequality for $\left|A_{3}\right|$ is sharp when $c_{1}=c_{2}=2$.

When $\lambda=1$, obtaining sharp bounds for $\left|A_{4}\right|$ follows relatively easily from an application of Lemmas 1.3 and 1.4 [11]. However, finding sharp bounds when $0<\lambda \leq 1$ appears to be a much more difficult problem, as the next theorem demonstrates.

The inequalities for $\left|A_{4}\right|$ for $f \in \mathcal{B}_{1}(\alpha, \lambda)$ are complicated, and in the interest of brevity, we omit many of the detailed calculations. Also, to simplify the analysis and presentation of the results, we define $\Gamma_{i}(\alpha)$ for $i=1,2,3$ as follows:

$$
\begin{aligned}
& \Gamma_{1}(\alpha)=\sqrt{\frac{3(1+\alpha)^{3}}{(2+\alpha)(3+\alpha)(4+\alpha)}}, \\
& \Gamma_{2}(\alpha)=\frac{2(1+\alpha)(2+\alpha)}{(3+\alpha)(4+\alpha)}, \\
& \Gamma_{3}(\alpha)=\sqrt{\frac{6(1+\alpha)^{3}(2+\alpha)^{2}}{(3+\alpha)(4+\alpha)\left(20+33 \alpha+12 \alpha^{2}+\alpha^{3}\right)}} .
\end{aligned}
$$

We also denote the positive real root of the equation $21+17 \alpha-2 \alpha^{3}=0$ by $\alpha_{1}^{\star}=3.40366 \ldots$, $\alpha_{2}^{\star}=\frac{1}{2}(1+\sqrt{33})=3.37228 \ldots$, and the positive real root of the equation $4+9 \alpha-\alpha^{3}=0$ by $\alpha_{3}^{\star}=3.20147 \ldots$.

Theorem 3.2. If $f \in \mathcal{B}_{1}(\alpha, \lambda)$, with inverse coefficients given by eq. (8), then

$$
\begin{equation*}
\left|A_{4}\right| \leq \frac{\lambda}{3+\alpha}, \tag{11}
\end{equation*}
$$

when either (i) $\alpha>\alpha_{1}^{\star}$ and $0<\lambda \leq 1$; (ii) $\alpha_{2}^{\star} \leq \alpha \leq \alpha_{1}^{\star}$ and $0<\lambda \leq \Gamma_{1}(\alpha)$; (iii) $\alpha_{3}^{\star}<\alpha<\alpha_{2}^{\star}$ and $0<\lambda \leq \Gamma_{1}(\alpha)$; or (iv) $0 \leq \alpha \leq \alpha_{3}^{\star}$, and $0<\lambda \leq \Gamma_{3}(\alpha)$.

Also,

$$
\begin{equation*}
\left|A_{4}\right| \leq \frac{(2+\alpha)(4+\alpha) \lambda^{3}}{3(1+\alpha)^{3}} \tag{12}
\end{equation*}
$$

when either (v) $\alpha_{2}^{\star} \leq \alpha \leq \alpha_{1}^{\star}$ and $\Gamma_{1}(\alpha) \leq \lambda \leq 1$; (vi) $\alpha_{3}^{\star}<\alpha<\alpha_{2}^{\star}$ and $\Gamma_{1}(\alpha)<\lambda \leq \Gamma_{2}(\alpha)$; or (vii) $\alpha_{3}^{\star}<\alpha<\alpha_{2}^{\star}$ and $\Gamma_{2}(\alpha)<\lambda \leq 1$.

All the inequalities are sharp.

We note that using the aforementioned lemmas, Theorem 3.2 proves that sharp inequalities for $\left|A_{4}\right|$ are established for $\alpha \geq 0$ and $0<\lambda \leq 1$, apart from the intervals $0 \leq \alpha \leq \alpha_{3}^{\star}$ and $\Gamma_{3}(\alpha)<\lambda \leq 1$, where the methods used fail.

Proof. Again on substituting eq. (7) in eq. (9) we have

$$
\begin{align*}
A_{4}= & -\frac{\lambda}{2(3+\alpha)}\left(c_{3}-\frac{\left(4+6 \alpha+2 \alpha^{2}+12 \lambda+7 \alpha \lambda+\alpha^{2} \lambda\right)}{2(1+\alpha)(2+\alpha)} c_{1} c_{2}+\frac{c_{1}^{3}}{12(1+\alpha)^{3}(2+\alpha)}\left(6+21 \alpha+27 \alpha^{2}+15 \alpha^{3}\right.\right.  \tag{13}\\
& \left.\left.+3 \alpha^{4}+36 \lambda+93 \alpha \lambda+81 \alpha^{2} \lambda+27 \alpha^{3} \lambda+3 \alpha^{4} \lambda+48 \lambda^{2}+76 \alpha \lambda^{2}+44 \alpha^{2} \lambda^{2}+11 \alpha^{3} \lambda^{2}+\alpha^{4} \lambda^{2}\right)\right)
\end{align*}
$$

To find the maximum of the modulus of eq. (13), we first use Lemmas 1.3 and 1.4.
Let

$$
B=\frac{\left(4+6 \alpha+2 \alpha^{2}+12 \lambda+7 \alpha \lambda+\alpha^{2} \lambda\right)}{4(1+\alpha)(2+\alpha)},
$$

and

$$
\begin{aligned}
D= & \frac{1}{12(1+\alpha)^{3}(2+\alpha)}\left(6+21 \alpha+27 \alpha^{2}+15 \alpha^{3}+3 \alpha^{4}+36 \lambda+93 \alpha \lambda+81 \alpha^{2} \lambda+27 \alpha^{3} \lambda+3 \alpha^{4} \lambda+48 \lambda^{2}+76 \alpha \lambda^{2}\right. \\
& \left.+44 \alpha^{2} \lambda^{2}+11 \alpha^{3} \lambda^{2}+\alpha^{4} \lambda^{2}\right)
\end{aligned}
$$

To see that eq. (11) holds in cases (i)-(iv), we use Lemma 1.4, noting that a long computation shows that both $0 \leq B \leq 1$ and $B(2 B-1) \leq D \leq B$ are valid in all cases. This proves inequality (11).

For inequality (12), we write eq. (13) as

$$
\begin{equation*}
\frac{-\lambda}{2(3+\alpha)}\left(c_{3}-2 B c_{1} c_{2}+B c_{1}^{3}\right)=\frac{-\lambda}{2(3+\alpha)}\left(c_{3}-2 B c_{1} c_{2}+B c_{1}^{3}+(D-B) c_{1}^{3}\right) \tag{14}
\end{equation*}
$$

In this case, we can therefore apply Lemma 1.4, provided that both $0 \leq B \leq 1$ and $D-B \geq 0$ are valid, and again a long computation shows that these inequalities are valid in cases (v) and (vi).

A simple calculation shows that

$$
D-B=\frac{1}{12}\left(\frac{(2+\alpha)(3+\alpha)(4+\alpha) \lambda^{2}}{(1+\alpha)^{3}}-3\right)
$$

and so we obtain from Lemma 1.4 and the inequality $\left|c_{1}\right| \leq 2$ that

$$
\left|A_{4}\right| \leq \frac{\lambda}{2(3+\alpha)}\left(2+\frac{2}{3}\left(\frac{(2+\alpha)(3+\alpha)(4+\alpha) \lambda^{2}}{(1+\alpha)^{3}}-3\right)\right)=\frac{(2+\alpha)(4+\alpha) \lambda^{3}}{3(1+\alpha)^{3}}
$$

We are therefore left to prove eq. (12) in case (vii), where we use Lemma 1.3, with

$$
\mu=\frac{(3+\alpha)(4+\alpha) \lambda}{2(1+\alpha)(2+\alpha)}
$$

Then, $\mu>1$ when $0 \leq \alpha<\alpha_{2}^{\star}$, and $\Gamma_{2}(\alpha)<\lambda \leq 1$, and $D-\mu \geq 0$ when $\alpha_{3}^{\star} \leq \alpha<\alpha_{2}^{\star}$ and $\Gamma_{2}(\alpha)<\lambda \leq 1$, and so both inequalities are satisfied when $\alpha_{3}^{\star} \leq \alpha<\alpha_{2}^{\star}$ and $\Gamma_{2}(\alpha)<\lambda \leq 1$.

Thus, writing

$$
A_{4}=-\frac{\lambda}{2(3+\alpha)}\left(c_{3}-(\mu+1) c_{1} c_{2}+\mu c_{1}^{3}+(D-\mu) c_{1}^{3}\right)
$$

Lemma 1.3 , and the inequality $\left|c_{1}\right| \leq 2$, gives

$$
\left|A_{4}\right| \leq \frac{\lambda}{2(3+\alpha)}(2|2 \mu-1|+8(D-\mu))=\frac{(2+\alpha)(4+\alpha) \lambda^{3}}{3(1+\alpha)^{3}}
$$

provided $\alpha_{3}^{\star} \leq \alpha<\alpha_{2}^{\star}$ and $\Gamma_{2}(\alpha)<\lambda \leq 1$, which gives inequality (12) in case (vii).

## 4 The logarithmic coefficients

The logarithmic coefficients $y_{n}$ of $f$ are defined in $\mathbb{D}$ by

$$
\begin{equation*}
\log \frac{f(z)}{z}=2 \sum_{n=1}^{\infty} y_{n} z_{n} \tag{15}
\end{equation*}
$$

Differentiating eq. (15) and equating coefficients give

$$
\begin{align*}
& y_{1}=\frac{1}{2} a_{2} \\
& \gamma_{2}=\frac{1}{2}\left(a_{3}-\frac{1}{2} a_{2}^{2}\right) \\
& \gamma_{3}=\frac{1}{2}\left(a_{4}-a_{2} a_{3}+\frac{1}{3} a_{2}^{3}\right)  \tag{16}\\
& y_{4}=\frac{1}{8}\left(-a_{2}^{4}+4 a_{2}^{2} a_{3}-2 a_{3}^{2}-4 a_{2} a_{4}+4 a_{5}\right)
\end{align*}
$$

Using the same techniques as in the proof of Theorem 2.1, it is possible to prove the following (proofs can be found in [21]).

Theorem 4.1. Let $f \in \mathcal{B}_{1}(\alpha, \lambda)$ for $\alpha \geq 0$ and $0<\lambda \leq 1$ with logarithmic coefficients given by eq. (16). Then, for $1 \leq n \leq 4$,

$$
\begin{equation*}
\left|y_{n}\right| \leq \frac{\lambda}{2(n+\alpha)} \tag{17}
\end{equation*}
$$

All the inequalities are sharp.

## 5 The second Hankel determinant

The $q$ th Hankel determinant of $f$ is defined for $q \geq 1$ and $n \geq 1$ as follows and has been extensively studied (see e.g. [22-25])

$$
H_{q}(n)=\left|\begin{array}{ccc}
a_{n} & a_{n+1} \ldots & a_{n+q+1} \\
a_{n+1} & \ldots & \vdots \\
\vdots & & \\
a_{n+q-1} & \ldots & a_{n+2 q-2}
\end{array}\right|
$$

We prove the following, noting that the result is valid for $\alpha \geq 0$.

Theorem 5.1. If $f \in \mathcal{B}_{1}(\alpha, \lambda)$, then for $\alpha \geq 0$, and $0<\lambda \geq 1$,

$$
H_{2}(2)=\left|a_{2} a_{4}-a_{3}^{2}\right| \leq \frac{\lambda^{2}}{(2+\alpha)^{2}}
$$

The inequality is sharp.
Proof. We use the idea first developed in [23].
Equating coefficients in eq. (7) gives

$$
\begin{align*}
H_{2}(2)= & \frac{c_{1}^{4} \lambda^{2}}{16(1+\alpha)(2+\alpha)^{2}(3+\alpha)}-\frac{c_{1}^{2} c_{2} \lambda^{2}}{4(1+\alpha)(2+\alpha)^{2}(3+\alpha)}-\frac{c_{2}^{2} \lambda^{2}}{4(2+\alpha)^{2}}+\frac{c_{1} c_{3} \lambda^{2}}{4(1+\alpha)(3+\alpha)} \\
& -\frac{(1-\alpha) c_{1}^{4} \lambda^{4}}{192(1+\alpha) .^{3}} \tag{18}
\end{align*}
$$

Next applying Lemma 1.1, noting that $H_{2}(2)$ is rotationally invariant, and again writing $c_{1}:=c$, so that $0 \leq c \leq 2$, it follows that

$$
\begin{equation*}
H_{2}(2)=-\frac{c^{2}\left(4-c_{*}^{2}\right) \zeta^{2} \lambda^{2}}{16(1+\alpha)(3+\alpha)}-\frac{\left(4-c^{2}\right)^{2} \zeta^{2} \lambda^{2}}{16(2+\alpha)^{2}}-\frac{(1-\alpha) c^{4} \lambda^{4}}{192(1+\alpha)^{3}}+\frac{c\left(4-c^{2}\right) \lambda^{2}\left(1-|\zeta|^{2}\right) \eta}{8(1+\alpha)(3+\alpha)} \tag{19}
\end{equation*}
$$

Taking the modulus in eq. (19), and noting that $|\eta| \leq 1$, gives

$$
\begin{equation*}
H_{2}(2) \leq \frac{c^{2}\left(4-c^{2}\right)|\zeta|^{2} \lambda^{2}}{16(1+\alpha)(3+\alpha)}+\frac{\left(4-c^{2}\right)^{2}|\zeta|^{2} \lambda^{2}}{16(2+\alpha)^{2}}+\frac{|1-\alpha| c^{4} \lambda^{4}}{192(1+\alpha)^{3}}+\frac{c\left(4-c^{2}\right) \lambda^{2}\left(1-|\zeta|^{2}\right)}{8(1+\alpha)(3+\alpha)}:=\psi(\alpha, \lambda,|\zeta|, c) \tag{20}
\end{equation*}
$$

Since the derivative of $\psi(\alpha, \lambda,|\zeta|, c)$ with respect to $|\zeta|$ is positive, we deduce from eq. (20) that

$$
\begin{equation*}
H_{2}(2) \leq \frac{c^{2}\left(4-c^{2}\right) \lambda^{2}}{16(1+\alpha)(3+\alpha)}+\frac{\left(4-c^{2}\right)^{2} \lambda^{2}}{16(2+\alpha)^{2}}+\frac{|1-\alpha| c^{4} \lambda^{4}}{192(1+\alpha)^{3}}:=\psi_{1}(\alpha, \lambda, c) \tag{21}
\end{equation*}
$$

Thus, we must find the maximum value of $\psi_{1}(\alpha, \lambda, c)$, when $0 \leq c \leq 2$.
Elementary calculus shows that $\psi^{\prime}(\alpha, \lambda, c)=0$ has three roots in $0 \leq c \leq 2$, but the only valid root is at $c=0$.

Since $\psi_{1}(\alpha, \lambda, 0)=\frac{\lambda^{2}}{(2+\alpha)^{2}}$ and $\psi_{1}(\alpha, \lambda, 2)=\frac{\lambda^{4}|1-\alpha|}{12(1+\alpha)^{3}}$, the proof of the theorem is complete on noting that $\psi_{1}(\alpha, \lambda, 0) \geq \psi_{1}(\alpha, \lambda, 2)$ when $\alpha \geq 0$ and $0<\lambda \leq 1$.

The inequality is sharp on choosing $c_{1}=0$ and $c_{2}=c_{3}=2$ in eq. (18).

## 6 A Fekete-Szegö theorem

We finally give a sharp Fekete-Szegö inequality for $B_{1}(\alpha, \lambda)$ omitting the proof, which is a straightforward application of Lemma 1.2.

Theorem 6.1. Let $f \in \mathcal{B}_{1}(\alpha, \lambda)$. Then, for $\alpha \geq 0,0<\lambda \leq 1$, and $v \in \mathbb{R}$,

$$
\left|a_{3}-v a_{2}^{2}\right| \leq \begin{cases}-\frac{\lambda^{2}(\alpha-1+2 v)}{2(1+\alpha)^{2}}, & \text { if } v \leq-\frac{5 \alpha+3 \alpha^{2}}{4+2 \alpha} \\ \frac{\lambda}{2+\alpha}, & \text { if }-\frac{5 \alpha+3 \alpha^{2}}{4+2 \alpha} \leq v \leq \frac{4+3 \alpha+\alpha^{2}}{4+2 \alpha} \\ \frac{\lambda^{2}(\alpha-1+2 v)}{2(1+\alpha)^{2}}, & \text { if } v \geq \frac{4+3 \alpha+\alpha^{2}}{4+2 \alpha}\end{cases}
$$

All the inequalities are sharp.

## References

[1] I. E. Bazilevič, On a case of integrability in quadratures of the Löwner-Kufarev equation, Mat. Sb. 37 (1955), no. 79, 471-476, (Russian) MR 17, 356.
[2] T. Sheil-Small, On Bazilevič functions, Quart. J. Math. Oxford, Ser. 223 (1972), 135-142.
[3] R. Singh, On Bazilevič functions, Proc. Amer. Math. Soc. 38 (1973), no. 2, 261-271.
[4] D. K. Thomas, On the coefficients of Bazilevič functions with logarithmic growth, Indian J. Math. 57 (2015), no. 3, 403-418.
[5] R. R. London and D. K Thomas, On the derivative of Bazilevič functions, Proc. Amer. Math. Soc. 104 (1988), no. 1, $235-238$.
[6] D. K. Thomas, On a subclass of Bazilevič function, Int. J. Math. Math. Sci. 8 (1985), no. 4, 779-783.
[7] D. K. Thomas, New Trends in Geometric Function Theory and Applications, World Scientific, 1991, 146-158.
[8] S. Ponnusamy and V. Singh, Convolution properties of some classes of analytic functions, Zapiski Nauchnych Seminarov POMI 226 (1996), 138-154. (Also Tranls. Journal of Mathematical Sciences 89 (1998), no. 1, 138-154. Plenum Publishing Corporation).
[9] S. Ponnusamy, Differential subordination concerning starlike functions, Proc. Ind. Acad. Sci. (Math. Sci.) 104 (1994), no. 2, 397-411.
[10] R. Fourier and S. Ponnusamy, A class of locally univalent functions defined by a differential inequality, Complex Var. Elliptic Equ. 52 (2007), no. 1, 1-8.
[11] Marjono and D. K. Thomas, On a subset of Bazilevič functions, Aust. J. Math. Anal. Appl. 16 (2019), no. 2, 1-10.
[12] R. Singh, On a class of star-like functions, Compos. Math. 19 (1968), no. 1, 78-82.
[13] M. Obradovič and S. Ponnusamy, On the class U, Proceedings 21st Annual Conference of the Jammu. Math. Soc., 2011, p. 25-27.
[14] M. Obradovič, S. Ponnusamy and K.-J. Wirths, Logarithmic coefficients and a coefficient conjecture for univalent functions, Monatsh. Math. 185 (2018), no. 3, 489-501.
[15] D. K. Thomas, N. Tuneski and A. Vasudevarao, Univalent Functions: A Primer, Studies in Mathematics (Book 69), De Gruyter, Germany, 2018.
[16] S. Ponnusamy and K.-J. Wirths, Elementary considerations for classes of meromorphic univalent functions, Lobachevskii J. Math. 39 (2018), no. 5, 713-716.
[17] S. Ponnusamy and K.-J. Wirths, Coefficient problems on the class $U(\lambda)$, Probl. Anal. Issues Anal. 7(25) (2018), no. 1, 87-103.
[18] R. J. Libera and E. J. Zlotkiewicz, Coefficient bounds for the inverse of a function with derivative in P, Proc. Amer. Math. Soc. 87 (1983), no. 2, 251-257.
[19] R. M. Ali, Coefficients of the inverse of strongly starlike functions, Bull. Malaysian Math. Sci. Soc. 26 (2003), 63-71.
[20] V. Ravichandran and S. Verma, Bound for the fifth coefficient of certain starlike functions, C. R. Acad. Sci. Paris, Ser. I 353 (2015), 505-510, DOI: 10.1016/j.crma.2015.03.003.
[21] S. Fitri, Marjono, D. K. Thomas and R. Bagus E. W., Initial coefficients for subclass of Bazilevič functions, J. Phys.: Conf. Ser. 1212 (2019), 012009, DOI: 10.1088/1742-6596/1212/1/012009.
[22] W. K. Hayman, On the second Hankel determinant of mean univalent functions, Proc. Lond. Math. Soc. 3 (1968), no. 18, 77-94.
[23] A. Janteng, S. Halim and M. Darus, Hankel determinants for starlike and convex functions, Int. J. Math. Anal. 1 (2007), no. 13, 619-625.
[24] J. W. Noonan and D. K. Thomas, On the second Hankel determinant of areally mean p-valent functions, Trans. Amer. Math. Soc. 223 (1976), no. 2, 337-346.
[25] Ch. Pommerenke, On the Hankel determinants of univalent functions, Mathematika 16 (1967), no. 13, 108-112.


[^0]:    * Corresponding author: Sa’adatul Fitri, Department of Mathematics, Brawijaya University, Malang, Indonesia, e-mail: saadatulfitri@ub.ac.id
    Marjono: Department of Mathematics, Brawijaya University, Malang, Indonesia, e-mail: marjono@ub.ac.id
    Derek K. Thomas: Department of Mathematics, Swansea University, Swansea, United Kingdom, e-mail: d.k.thomas@swansea.ac.uk Ratno Bagus Edy Wibowo: Department of Mathematics, Brawijaya University, Malang, Indonesia, e-mail: rbagus@ub.ac.id

